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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = —| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 =~ - - -
Zh st 1.00] 000 ~ 6.77 85.57] #h L4 |]0.00 ~ 6.77| 157 8.24 ZTh LS 1.00] 500 ~ 927 85.57| #hLlst | 500 ~ 927 157 8.24
9 100kN/mM#%#8Z % 1.00/ 000 ~ 142 121.58|3mZi#BZ5| - ~ = = -| 100kN/iZi#8 % % 1.00[ 11.13 ~ 17.07 121.58|3m%i#BZ% =~ = = =
Zh st 1.00[ 142 ~ 920 100.00] #hlist | 000 ~ 9.20] 221 11.59 Zh LS 1.00|] 500 ~ 11.13 100.00| Zhlist | 500 ~ 17.07] 2.21 1159
3 100kN/mM#%# 8% % 1.00/ 000 ~ 1.87 128.74|3mZ#BZRBH| - ~ = = -| 100kN/ %82 % 1.00| 12.64 ~ 31.70 128.74|3m%#BZ % =~ = = =
Zh st 1.00[1.87 ~ 965 100.00] #hlist | 000 ~ 9.65| 279 14.64 Zh LS 1.00| 500 ~ 12.64 100.00| #hlist | 500 ~ 31.70] 2.79 14.64
4 100kN/mM#%# 8% % 1.00/ 000 ~ 203 131.42|3mZ#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.40 ~ 3454 131.42|3m%i#BZ% =~ = = =
Zh st 1.00[2.03 ~ 982 100.00] #hlist | 000 ~ 9.82| 281 14.72 Zh LS 1.00|] 500 ~ 1240 100.00| Zhlist | 500 ~ 34.54| 281 14.72
5 100kN/mM#%#8Z % 1.00] 000 ~ 211 132.75|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.24 ~ 35.15 132.75|3m%#BZ% =~ = = =
Zh st 1.00[ 211 ~ 990 100.00|] ZHhList | 000 ~ 990] 282 1478 Zh LS 1.00|] 500 ~ 1224 100.00| #h it | 500 ~ 35.15| 282 14.78
6 100kN/mM#%#BZ % 1.00/ 0.00 ~ 2.00 130.84|3mZi#BZBH| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.61 ~ 37.81 130.84|3m%i#BZ % =~ = = =
Zh st 1.00{2.00 ~ 9.78 100.00] #hlist | 000 ~ 9.78] 279 14.65 Zh LS 1.00| 500 ~ 1261 100.00| #hlist | 500 ~ 37.81| 2.79 14.65
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